REED
13822 Oaks Avenue

MAIN HYDRAULIC PUMP  chino, ca 91710
125cc reedpumps.com

87929-P

FLUSHING
VALVE

!
| ': #FF‘

\ HYDRALIC

PUMP




MAIN HYDRAULIC PUMP
125cc

REED
13822

Chino,

Oaks Avenue
CA 91710

reedpumps.com

ID # PART # | PART DESCRIPTION QUANTITY
1 W-109842 PUMP, AVG180 CC SAE B PAD WITH FLUSHING VALVE 1 EA
2 87458 SHCS, M14X200-GR 12.9 4 EA
3 803165 | M14-LOCK WASHER 2 EA
4 801874-007 | BANJO ELBOW 12LX16MX1.5 > EA
5 W-105076 | FITTING, GAUGE FITTING-L12 > EA
6 87576 FLANGE ADAPTER, 1 %" SAE-30S 1 EA
7 86265-003 | SPLIT FLANGE-CODE 62-20 SAE 1 EA
8 802763 | O-RING #222, BUNA 90 SHORE 1 EA
9 801888-007 | SWIVEL ELBOW-30S 1 EA
10 801871-004 | PLUG — % BSPP 2 EA




REED
13822 Oaks Avenue

MAIN HYDRAULIC PUMP  chino, ca 91710
125cc reedpumps.com

X2
ID # PART# | PART DESCRIPTION QUANTITY
11 81002 FITTING-MB-MJ-8-10 1 A
12 86952-002 | FLOW CONTROL CAT/W KNOB (HYDRAFOCE) 1 EA
13 87568 PLUG O-RING BOSS SAE-4 5 EA
PRESSURE REDUCING ELECTRO PROPORSIONAL
14 88140 (PWM) WITH COIL 1 EA
15 88376 REVERSE CARTRIDGE DNDA-MNN-212 1 EA
16 88377 COIL FOR 88376 CARTRIDGE 1 EA
17 801876-001 | ADAPTOR-12L X SAE 6 5 EA
18 801876-006 | ADAPTOR-18L X SAE 10 1 EA




MAIN HYDRAULIC PUMP
125cc

REED

13822 Oaks Avenue
Chino, CA 91710
reedpumps.com

ID # PART # PART DESCRIPTION QUANTITY
18 87445-1 GEAR PUMP, 25/11.3CC RH B-PAD SPL 1 EA
19 803153 BOLT, M12X1.75X35 HEX 10.9 DIN933 2 EA
20 M12x35 FLAT WASHER 2 EA
21 801506 ADAPTER-90L-35L (F) X 1.50 HOSE 1 EA
22 801517 ADAPTER-STR-35L (M) X SAE16 (M) 1 EA
23 |[W-105651-ORING | 1 EA



MikeN
Text Box
W-105651-ORING 


REED
13822 Oaks Avenue

MAIN HYDRAULIC PUMP  chino, ca 91710
125cc reedpumps.com

TORQUE
30-35 FT LB

g7

ID # PART # | PART DESCRIPTION QUANTITY

24 87661 | TEST POINTS M16X2-SAE6 MALE 4 EA
25 801872-013 | ADAPTER, 12LXM12X1.5 2 EA
26 85691 | SOLENOID VALVE, PUMP 1 EA
26A W-105575 | SEAL KIT FOR W-105581 1 EA
27 W-105579 | HP CONTROL VALVE 1 EA
27A W-105580 | SEAL KIT 1 EA
28 87959 | CARTRIDGE LODGIC (4500 PSI)-(TORQUE 30-35 FT LB) 1 EA




MAIN HYDRAULIC PUMP
125cc

REED

13822 Oaks Avenue
Chino, CA 91710
reedpumps.com

ID # PART# | PART DESCRIPTION QUANTITY
29 86952 MANIFOLD, CLOSE LOOP MASTER CONTROL 1 EA
30 801778 | MANIFOLD, A4VG125 / A4VG180 1 EA
31 801871-004 | PLUG — % BSPP 2 EA
32 801901-004 | CHECK VALVE — 18L X ¥ BSPP-PORT 1 EA
33 W-106083 | FAST CHANGE VALVE (PUSHOVER VALVE) 1 EA
34 802763 | O-RING #222, BUNA 90 SHORE > EA




MAIN HYDRAULIC PUMP

125cc

REED

13822 Oaks Avenue
Chino, CA 91710
reedpumps.com

ID # PART# | PART DESCRIPTION QUANTITY
35 801875-008 | BANJO ELBOW-18L X % BSPP 1 EA
36 87576 FLANGE ADAPTER, 1 %" SAE-30S 1 EA
37 801888-007 | SWIVEL ELBOW-30S 1 EA
38 86265-003 | SPLIT FLANGE-CODE 62-20 SAE 1 EA
39 802763 | O-RING #222, BUNA 90 SHORE 1 EA
40 801506 | ADAPTER-90L-35L (F) X 1.50 HOSE 1 EA
41 801526 | ADAPTER-STR-35L (M) X M48X2.0 (M) 1 EA
42 801901-004 | CHECK VALVE — 18L X %2 BSPP-PORT 1 EA
43 801888-005 | SWIVEL ELBOW-18L 1 EA
44 803164 | M14X100 BOLT 4 EA
45 803165 | M14 LOCK WASHER 4 EA
46 801889-006 | SWIVEL BRANCH TEE — 255 1 EA
47 801875-004 | BANJO ELBOW-255X1 BSPP 1 EA




MAIN HYDRAULIC PUMP
125cc

REED
13822

Chino,

Oaks Avenue
CA 91710

reedpumps.com

ID # PART# | PART DESCRIPTION QUANTITY
48 87461 HOSE, THERMOPLASTIC, 12L ENDS-24" 2 EA
49 801795 | TUBE- HYD —PTO ASSY 1 EA
50 801487-017 | HOSE, 10G6K-18FDLX-18FDLX-31" 1 EA
51 801888-005 | SWIVEL ELBOW-18L 1 EA
52 801874-004 | BANJO ELBOW 18LX22MX1.5 1 EA
53 87462 HOSE, THERMOPLASTIC, 12L ENDS-16" 1 EA
54 W-104949 | FLUSHING VALVE, REXROTH 1 EA
55 802763 | O-RING #222, BUNA 90 SHORE 1 EA




MAIN HYDRAULIC PUMP
125cc

REED
13822

Chino,

Oaks Avenue
CA 91710

reedpumps.com

ID# PART # PART DESCRIPTION QUANTITY

56 801872-004 | ADAPTOR —12L X M18 X 1.5 1 EA
57 W-105076 FITTING, GAUGE FITTING-L12 2 EA
58 801888-003 | SWIVEL ELBOW-12L 1 EA
59 87614 MINICHECK HOSE, 24" 16-20 ENDS 1 EA
60 801890-003 | SWIVEL RUN TEE, 12L 1 EA
61 801891-008 | TUBE REDUCER-18LX12L 1 EA
62 801872-007 | ADAPTOR 18LXM22 1.5 1 EA
63 801888-005 | SWIVEL ELBOW - 18L 1 EA




MAIN HYDRAULIC PUMP

125cc

REED

13822 Oaks Avenue
Chino, CA 91710
reedpumps.com

ID # PART# | PART DESCRIPTION QUANTITY
64 86728-014 | ELBOW, MB-MJ90-10-10 1 EA
65 86900-023 | ELBOW, MB-MJ90-12-12 1 EA
66 W-105169 | ADAPTOR — 49-28L (F) 1 %" HOSE 1 EA
67 801793 | TUBE — HYD — PTO ASSY 1 EA
68 801499 | FILTER ASSY, FOR A4VG125 CHARGE PUMP 1 EA
69 801500 | FILTER ELEMENT FOR A4VG125 1 EA

801499- | FILTER O-RING 02.079- 78,97 X 3,53-S-FKM70
70 ORING 1 EA






